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46 Probes moving away from a fixed point charge

A +30nC is held fixed. Various probe particles are placed near to this. First a proton is
released from rest 0.0010m from the fixed charge. The aim is to determine the speed of the
proton when it is 0.0025m from the fixed charge. (132522 Class)

a) Suppose that you tried to use Coulomb’s law to determine the speed. What mathemat-

ical difficulties would arise? vV fsﬂ:’{ﬁ‘j oF ¥
b) Use energy conservation to determine the proton when it is 0.0025m from the fixed
charge. N
&l g

Second an electron, initial cD:B@T(Tm from the fixed charge, is launched directly away]

c) Determine the minimum launch speed of the electron such that it escapes the fixed
charge.
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